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BERGEAE | R B 5 8 (%8| 2R | w 2 = | e
X% B | Y| ooRTy 68,195 2179
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= =R 11 ] 62,587 2,912

B33. 5. 22 | s mwes | 0 i 61,560 261
BB % oE | | aoREs 61,359 1,778

(28@E) B B B — R 1 52,4583 1,983
D W E B =3 1 29,427 526

B % &8 B | 1 | exsEs 17,049 445

A 8 % | 0|3 R 6,560 186

x % B || oo=Dy 76,563 2,096

F E B — 11 1 73,046 2,935

BB A B | | Bitas 67.118 4,014

B35 11. 201 5 s mwes | 0 Y 63.919 305
mom % oE | 0 | SeRTH 61,466 1,914

(=2 0m) mom oE B | x| Bkins 56,502 290
B % &8 B | 5 | osnEs 12,761 242

17 E | v | 2xHas 9,723 402

A 8 % | 0|3 R 3,567 56

x % B | Y| oo=Ty 69.620 2143

Do — B8 | I 68,231 1,390

X f o | 0 | Biuss 64,939 334

Wom o om | | aeREs 62,160 1,500

B38. 11. 21 www s | 1 | osuss 58,206 526
fd B F & R 1 56,906 4,474

(=30 WO oE — | 8 | aHRIH 54,668 3,287
D WIESB |1 |=FE 18,677 o274

B % & & | n | axsEs 11,675 265

s m % | |=mF B 1,741 37
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BERGFAE| B M B 8 % 2R | fg 2 & | e 2 wd
M B & & | N | 8548 98,539 6,576
t )il — B | BBRES 90,733 2,678
X BERED | BARES 74,043 273
BB42. 1. 29 - -
X g sy | BBRES 68,807 2,548
£ B B | BARES 64,494 263
E531ED) woB % E | R | OBRIN 62,914 3,018
B % &8 8 | 2 | axsEy 20,015 510
Z B o B | ®E OB OB 17,423 468
B A B x I I 6,648 114
t ol — BB | N | BBREIX 90,074 3,147
X g = I I 89,004 2,613
Z B 8 N I I 88,176 2,043
B44. 12. 27
3 I 1| BARAR 73,756 4,892
2 B B W I I 58,648 272
530m) X H OBXRS | R I 58,617 197
M s s R | B2 B 55,346 1,837
B X% B B 1| BARES 23,999 823
B A B x ol R 4,321 82
oI — B | Y | BBRER 15,040 3,674
S B8 B % 1| BARARS 87,210 377
BB47. 12. 10| %z @B & A | BHRES 85,696 2,060
X & iy Il I 82,897 3,418
(£33@) £ B B 1| BARARS 77,333 334
M @B & & | R I 76,828 5,391
JRR B & | 2 | BARES 40,873 1,299
M B8R B | Y| Bsas 11,913 7,410
® ) — BB | EBRES 03,965 3,866
X & i Il l 91,217 2,558
iB51. 12. 5| 8 @ & &8 1| BARRRE 88,145 186
X B B ™ 1 1 80,345 165
(E34@) Z B8 AN | R | OBRIE 68,884 1,740
K g B E | B | akHEs 41,503 1,836
R B I % | E OB 21,116 1,690
B OE M X Il I 2,051 65
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BERGEAE | R B 5 8 (%8| 2R | w 2 = | e
P JiIIl — BB Y | BHERER 168,027 5734

Z B 8 1 1 99,935 3,084

B54. 10. 7 fd B ™ & 1 BAMER 96,618 6,460
o R M /1 1l 82,480 271

(350D 5 B K B 1 Il 74,045 162
X B iz R | BHRER 56,940 1,269

Z B ZFBK B | BAHER 31,335 1,492

¢ JiII — BB L | BHERER 145,801 4,541

Z B & N 1l T 95,919 2,596

B55. 6. 22 fd B N & 1 BAUER 92,464 6,115
It & & 70 1 BHRFESR 84,314 3,660

(360 & B K BB 1 BAUES 78,606 213
oA R O R T 77,515 178

Z B ZFBK B | BAHESR 31,578 1,515

& JIl B — Y | BHREER 163,755 5856

& B K BB 1 BAH RS 71,955 246

fd B ™ & 1 1 71,643 4,807

B58. 12. 18 B K R B no|# B 67,436 2,464
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(EB37@) it & F 0 R | BHRER 64,866 2,913

Z B & N = I 63,340 1,622

B 8B EJ) no|# PR 61,762 1,694
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¢ JIl B — Y | BHEER 118,149 3,396
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Be1. 7. 6 H B EJ) I I 103,590 1,678
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(E38E) fd B M & 1 BAMER 81,950 5,431
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Z B &FBIK /1 BARES 20,914 1,167
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a2 = . PR = & # = & E=
4 JIl B — L | BREFER 110,781 2,927
H BB &) 1 ] 100,379 1,764
It & B A /1 1 97,120 5,854
T2, 218
fd B A & 1 BARHMESR 92,543 6,191
B K = B /1 BHREE 89,654 3,249
(239@) R "
X H B 2 R |8 P E 82,566 320
R B8 EF X = | BAHESR 81,457 492
N O R = /1 BAHES 26,335 1,097
D JIl B — Y | BHEER 110,832 2,814
it & B A 11 1 &£ =% 107,295 5728
H BB &) /1 BHREE 87,944 1,832
5 7. 18
fn K ® B8 11 1 85,201 2,969
(884 0@ X H B 28 1 H P B 71,422 300
EH | ) EI a1 , ,
(55 RE=IE) AN & R AHER 68,236 3,502
MmoAR MR =2 1 61,328 259
N O B = /1 BAHES 26,136 1,128
Mmoo B E 1 H P B 5,686 185
It & B A B E = 83,490 5,349
8. 10. 20 -
I K R B R | BHRESR 55,491 7,562
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¥12. 6.25 b % B F R|IB T % 55,732 6,608
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= 20 o | e = wls =
W15, 11. 9 It & B A x| BHRES 85,585 7,365
(54 3@) BB F "B £ & 72,508 6,507
(F7XERIR Nk B E | 2 | assEs 13,617 1,273
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(E7RERIR W o= | 2 | assEs 15,438 1,364
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(545@) BB F ®|IR £ & 99,236 9,878
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24, 12. 16
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(58460
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($48E)
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